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E5 Al 10,050,000 8,835,000 1,215,000
100 X1 Al=¢ 10,050,000 8,835,000 1,215,000
110 XAl 10,050,000 8,835,000 1,215,000
111 ESAl 9,860,000 8,650,000 1,210,000
111-03 =2l Al 270,000 290,000 A20,000
[ 23 ] 270,000 290,000 20,000
<ML > 270,000 290,000 A 20,000
O=8Al 270,000,000& 270,000
111-04 T &HA 1,550,000 1,400,000 150,000
[ et A ] 1,550,000 1,400,000 150,000
<ML > 1,550,000 1,400,000 150,000
O TH &t Al 1,550,000, 000& 1,550,000
111-05 Xt = XHAl 4,850,000 4,000,000 850,000
[ LEH3IAH ] 4,850,000 4,000,000 850,000
< MR > 4,850,000 4,000,000 850,000
O XS XAl 4,850,000
-HSHNARE 2,220,000,000& 2,220,000
-NSXUHNEHZ 600,000, 000& 600,000
-2HHEX3 2,030,000,000& 2,030,000
111-07 & i 2 HI Al 1,440,000 1,430,000 10,000
[ 2etsl A ] 1,440,000 1,430,000 10,000
<ML > 1,440,000 1,430,000 10,000
Ot Al Al 1,440,000, 000& 1,440,000
111-09 Xl & & S Al 1,750,000 1,530,000 220,000
[ B3 1,750,000 1,530,000 220,000
< MR > 1,750,000 1,530,000 220,000
OXLASA 1,750,000,000& 1,750,000
M3 AtE =2 190,000 185,000 5,000
1M13-01 At == 190,000 185,000 5,000
[ Letsl A ] 190,000 185,000 5,000
<ML > 190,000 185,000 5,000
OXHtEE =g 190,000, 000& 190,000




